
CLASS: 10 

Time Allowed : 3.00 Hours] 

1 

2 

3 

4 

5. 

6 

7. 

8 

9 

10. 

11. 

12. 

13. 

14. 

15. 
16. 

17 

18. 

Choose the best answer: 

a 

a) 

f(x) = (x+1) - (x-1) represents a function which is 

IT there are 1024 relations from a set A = (1234 5) to a set B. Then the nåmber of elements in B is 

a) 3 

a) 

COMMON QUARTERLY EXAMINATION-2024-25 

c) 

a) 

a) 

linear 

1 <r<b 

a) 

B is 24 more than A 
B is larger than A by 1 

Euclid's division lemma states that for positive integers a and b, there exists unique integers q and r 

such that a=bq+r, wherer must satisfy. 

1 

If A = 265 and B = 264 + 263 + 262 +..... + 20. which of the following is true? 

Intersect only at a points 
Coincides with each other 

is not equal to 

a 

b) 2 

y² 

b) 

ZB = ZE 

Graph of a quadratic equation is a -
a) Straight line 

1.4 cm 

b 0 <r<b 

A system of three linear equations in three variables is inconsistents if their planes. 

The value of sin0 + 

b 

a) tan0 

MATHEMATICS 

c) Passing through the origin 

25 

b) 

cubic 

The straight line given by the equation x = 11 is 
Parallel to X axis 

1 

X 

a V3 b) 
Consider four straight lines: () ,: 3y=4x+5 
Which of the following statement is true? 
a) I, and I, are'perpendicular 

, and I are perpendicular 

Circle 
AB BC 

PART -| 

If in triangle ABC and DEF, DE = ED, then they will be similar, when 

1 + tan 

b) 

c) 

is equal to 

1 

If 5x = sece and =tano, then xis equal to 

b) 
d) 

c) 

b) LA =LD 
If in AABC, DEJBC, AB = 3.6 cm, AC = 2:4 cm and AD = 2.1cm then the length of AE is 

b) 1.8 cm d) 1.05 cm 

b) 

4 

d) 

reciprocal 

c) 

Register 
Nunber 

0sr<b 

If slope of the line PQ is 1//gthen slope of the perpendicular bisector of PQ is 

d) 

c) ZB= ZD 

c) 

A and B are equal 

c) 
PART I 

A is larger than B by 1 

Intersect in a line 
Do not intersect 

Parabola 

1.2 cm 

Parallel to Y axis 

d) 

d) 

b) 1, and , are parallel 

cot0 

5 

d) 

d) 

d) 0 
(i) 1,: 4y=3x-1. (iü) 1,: 4y+3x=7 

Answer any 10 questions. Questlon No. 28 Is compulsory. 
If BxA = {(-2,3), (-2,4), (0,3), (0,4), (3.3), (3,4)) find A and B. 

Is 7x5x3x2+3 a composite number? Justify your answer. 

d) 

, and I, are parallel 

Find the number of terms in the GP. 4,8,16,......81927 

Passing through the point (0,11) 

8 

quadratic 

d) 

|Max. Marks: 100 

0<rsb 

d) 

Hyperbola 

LA = 2F 

0 

14x1=14 

1 

(iv) I,: 4x+3y=2 

Represent the function f= ((1,2), (2.2), (3.2), (4,3).(5,4) hrough () an arrow diaaram (i) a table form 

10x2=20 

KK/10/ Mat/ ! 
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24 

25 

27 

28 

29. 

30. 

31. 

32. 

33. 

34. 

35 

36 

37. 
38 

39. 

40 

41 

43 

Fnd the LCM of Sx*y, 48xy. 

44. 

If 148C is simil ar to ADEF such that BC = 3 cm, EF = 4 cm and area of AARC. = 54cm2 Find the ared 

Swe the equation 4r&7x-2=0 by factorizatoin method. 

Ste the angle bisector theorem. 
SOw that the ponts P-1.5.J), Q(6.-2), R(-3,4) are collinear. 

lines x - 2y + 3 = 0 and 6x + 3y Show that the straight 
Find the equation of a line whose intercepts on tne x and y axes are 

Prove that 
Find the sum:1+2 + 3 + ......... 60. 

1+ cos 

1- cos0 

If the difference between a number and its reciprocal is <5, find the number 

Answer the following any 10 questions. Q.No.42 is compulsory,. 

If the function f:R’R is defined by f (X) = 

f(4) 

Let A = xEW X<2), B = (xEN| 1<x<4) and G = (,). Verity that'Ax (BUC) = (AxB) U (AxC). 
2x + 7; 
x²-2; 

3x - 2; 

If A = 2x+1 

2x-1 

= cOseco + coto 

B= 

Find the GCD of 6x-30x²+ 60x - 48 and 3x- 12x² + 21%- 18. 

2x-1 

2x+1 

ii) f(-2) 

Rekha has 15 square colour papers of sizes 10 cm, 1f cm, 12 cm....24cm. How much area can be 
decorased with these colour papers? 

If 9x+ + 12x + 28x² + ax + b is a perfect square, find the values of a and b. 

cOSa 
sinß 

State and prove Basic Proportionality theorem. 

find1 

m and 

A-B 

+ 8 =0 aer perpendicular. 

PART - ||| 

2B 
A-B7 

cOSa 

sinß 

i) 

A boy height 90 cm is walking away from the base of a lamp post at a speed of 1.2m/sec. If the lamp post is 3.6 m above the ground. Find the length of his shadow cast after 4 seconds. 
Let A(3,4), B(9,-4), C(5,-7) and D(7,-7), Show that ABCD is a trapezium. 

graph. Also 

X<-2 

Find the Area of the quadrilateral whose vertices are at (-9,0), (-8,6),(-1,-2) and (-6,-3) 

-2 <x<3 
X3 

f(4) + 2f(1) 

Prove that sin'A COs'B + cos'A sin'B + cos²A cos?B + sinA sin'B = 1. 

Answer all of the following. 

S,+S,+S,+..... . = h mn (mn+1). 

A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through (-3,8). Find its equation. 

=n, then prove that (m²+n) cos²ß = n² 

the length of the altitude from R to P. 

find the values of 

42. If S,. S, S, *......, are the sum of n terms of m AP's, Whose first terms are 1,2,3......m and whose common difference are 1,3,5,.....2.m-1) respectively. Then snow ulal 

PART - IV 

Sides of the triangle POR (Scale factor 71a > 1) onstruct a APQR in which PO = 8em /R 

iv) f(1) -3f (4) 
i(-3) 

10x5=50 

(OR) 

a) Construct a triangle similar to a oiven triangle POR with its sides equal to 3 of the corresponding 

(() Find y when x=9, (0) Find x when y =7.5. 

the time taken to Kanshik with his Speed of 2.4 km/hr. 

2x8=16 

600 and the median RG from R to PQ is 5.8 cm. Find 

a) Graph the following linear function u 1y Identify the constant of variation and verify it with the 
(OR) NISnanrn is the winner in a Marathen race of 12 km distance. He ran at the uniform speed of 12 km/hr and reached the distinatie hour He was followed by Aradhana, Jayanth, Sathya and Swetha with their respective sned/hr 4 km/hr, 3 km/hr and 2 km/hr and they covered the distance in 2 hrs, 3 hrs, 4 hrs and e hasnectively, Draw the speed - time graph and use it to find 

KK/10/Mat/2 
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10th Std 

Q.No. Option 

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

10. 

11. 

12. 

13. 

14. 

b 

d 

d 

d 

b. 

C. 

b. 

b 

COMMON QUARTERLY EXAMINATION -2024-25 

MATHEMATICS 

2 

Part-I 

acalie 

A a Karger tan B &y 1. 

De not wtosect 

() 
Paralola. 

2BeD 

(.4em 

-VB 

1. 

Parallel to yais. 

Answer 

are peydialar 
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Prepared By, M.S.Mahendira Rajan, M.Se.,M. Phil,B. Ed., Vanmathi Matric Hr.Sec. School-Vadakkanandal. 

Mellod, 
-& 

as4 

&)92 

4 

2 Qnol 

foclaiyati 

48x*g 
48xy 

2 

- 2 x2x2 x2x3 xayiey 

4m [x - 2] + [ -2) 

Pours u alo 
tte base au Agual, 

&xbxxxy 

2X 2 X 2 

HRce, n2 

n - ) 

Snee 

The Aoots 

GPs 4 8, lb,--, 

20. Solution: 

by g 

2048 

Henes 

2, 4 

2 

19. Solution: 

&I92 

tn 8192 

18. Solution: 

guen nune can le 
3x70 

7%5 *3X2+3 = 3x(7x5Y2 +|) 

5 

(3,4)4 

2 

3 

lonyoia namba 

4 

2 

2 

17. Solution: 

2 

facloriyud 

fos 

ARROs IAGRAM. 

A={3,43 B=f-o,3}. 

Suce 

because 

iA TABUE FoRM. 

all seond co 

16. Solution: 

all 

a 

A = fs,y 
A =t of 

Part-I| 

1] AN 

B :f-2,o, 33 

15. Solution: 

Herce 

Gin; BxA:fe-,3, -2,4),1o, 3) o, ),(3,3) 
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21. Solution; 
Snce, te 

sides, 
we have, Ahea (aAGe) 

Area CA DEF) 

Aea a DEF 

Area A DEF 

22. Solution: 

STA TEMENT : Angle Biueeton Thasem. 

DIACRAM! 

RC-3,4). 

Hee 

The utonal bissct 

tte oyoit side wla nally 

A 

23. Solution: 

The pointa 

rea 

Be 

biangl diridu 

2 

ttey giuen point 

te 

are Pl-l-5, 3), Q l6,~2) 

- (X>8, t *s9,t *,3. 

3t4 - a) - Cis +b-6) 

24. Solution: 

(Hence ) 

25. Solution: 

Tnto ceyts forn 

-6x+4y 

m,x m, --l. 

b 

6-4 

-24 

-bx+4 -24 

HRMce 

a-na cyt ) a4 
y-nto cayt bi -6. 

=24. 

26. Solution: 

Henee 

2 

wynbieuas 

2 

3x -2yei2 

|+ as S9 
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--3o 

Prepared By, M.S.Mahendira Rajan, M.Sc.,M. Phil,B. Ed., Vanmathi Matric Hr.Sec. School-Vadakkanandal. 

=-32 

2-3) +7 
-I-3l1o) 

l0 +2 CI-2) 

y3. 
-24 23 

iv]. )-3ftu) 

> 3(4)-2 2 2 -2lo 

X2-2 

4e3) 

Henee Povedg 
(AKZ) v tA xe) 

30. Solution: 

Ax(BUuc) 

tenee 

fram , ae get 
Ci,2) CI,3) (l,4)c ls)1 

- fto,3) (o, 3) to, u) (e, s) 
C1,4)3of ro, 3) 19, 5) l ,) 

fre,a) to, :) (o,4) (,) Ci,s) 
AB) UCAKc) 

fros) fa, s) (i,3)0,5) 

fce,a), (o, 3) (o, u) (i,2) 
Axe 

(,2), (, 32, ( l,4), (U;s)4. 
AxeBve) = to, 2),(o, 3),( o, 4),(0,s), 

Axfue) f o.2 3, 4, s4. 

nbeu 
Manee, The ruguined, 

A- fxewlx <23 fo}. 

-330 

2 
boxb 

2 

29. Solution: 

neh+i) 

Part - I|| 

2-4 

724 

C x-s) C5x+1) >O 

(42 +3 4 - +60 33. 

BUC 

28. Solution: 

B 

+60 

5x-2yt-5 

27. Solution: 

|42+ 3 
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Total 

31. Solution: 

decoratd 

Let 

(i'4....*24') - (it. +9*) 

24x 2 S* 44 

Hence 

6 

24x25 x49 

+h heh+1) (2 n+) 

Re kha hns foveed, 
Can le decoakd tt tse cdou 

32. Solution: 

3 

geu) 2 3x2xttx -g. 

(-) (4) 

+10-) 

2 

47X-6). 

3x + 2 

L3*+2 

-2 +8x -& 

2-4. 

and 

(-) 

( 

(-> 

= 2 (-2) 

K-2 

Hence ) 

2 

x3 + 2 

3 

2 

33. Solution: 

+2X 

( 

Epabag 

Be cause 

2 

(bb 

32n 2x -8)= 3(a-) 

Q 6 

4 2 

2 

2 

3 

(-) 

( 

( 

Amands as 

3 1224x2 

12 4x2 

244x 4ax +6 

24x4 b Ib 
(-> 

-icants, got.i. 

, b=lb. 
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34. Solution: 

A-B 

lence 

A-ß 

A 

STATEMENT: 

2B 

213 

2x+| 

2X-l 

A-B 

A-ß 

A-3 

Aß 

2 

(2x) 

44) 

2(4n'+1) 

( 

4x| 

A3 

2-) 

(ex41)+2x-) 

22 

2 *+), 

2ß 

(A+0) (A -B) 

) 

2 
A43 

2t4x12. 

(. 2x+/ 

35. Solution: 
Bame Prqrorlian alit Thesten lon) Thaly Theo 

A st. lin baun noall to a 

sides.iides tu sider en tte same 
natio 

GzVEN-. 

To PRovE! 

Duaroat on AB 

CON STRUe TLON! 

2ABe 

AD 

DI3 

Dras 

AD 

LAcB LAEDZ2/ 

L DAE -zBAC= 23 Bolh biangs have 

A ABe nAAOE 

A D+DB 

DB 

AD 

AD 

AD 

AD 

DB 

AE 

adi 

LAMPOST 

AE 

AE+Ec 

AC 

Aé 

AE 

AE 

36. Solution: 

DE Be. 

Hence 

bg AAA Similaity. 

Canellig 

Boy 

tu yuoint 

Takeing neijneal. 
Pranae. 

oca 

angla ) 

D 

D%E 

Loth sicle4. 
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Suce 

diame 

Henee 

4.84X 

3x 

AABE ACDE, 

bouut clokwise 

4, 

A(-8,6) oel-9) 

I2m/s, 

ABD 

4 hconels 

37. Solution: 
A C&, 4) 

AB 

Hance 

b, -3) 

- (Xs,Y3 

- (-4)tbi3) 

38. Solution: 

:4lCa) - (-NA] 

Ghwen 

shado DE =k&m.sleu oh AD 4 

Aenee ) 

A l3,) B(9,-4) cls,-) of7,-7) 

Ehen 

karallel, 

39. Solution: 

9-3 

-744 

we hae 

7-3 

a & b ae 

-4 

(b -a| 

2 

tgunin . 

7-a 

4 

4. 

b 
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Prepared By, M.S.Mahendira Rajan, M.Sc.,M.Phil,B.Ed, Vanmathi Matric Hr.Sec. School-Vadakkanandal. 

+ 

2 

2 

Sn his 
Qui Paer ms tahe 

Guen that 

41. Solution: 

SiA coss + A sB 

R. MS. 

2 Sem A + cA 

SuA[] +los A C3. 

Snea 

+ cstA CoB SeA snB 

2| 

40. Solution: ta suqind eqalione. 
G+34y =12 4 +3y 

+. 

a3 b 4 
Poslie 

CA 

A ence 
So, 

Since 

Put a 3, b a :3 4)b4 

(- 3, s), 
Passes taeugh thu eint 

Put la-, 

a-3 

(a-z) ta+7) 

ala-g) +7(a- 3) o. 

-21 +3a +&a 7a-a 

>-30a) t&a = al 7a). 

As tis line 

-o 
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42. Solution: 

Hence 

2 

Coy 

S, euots ts Summ 

2 

2 

Protd, 

S denou te Sum 
ar 2, d 3, 

a3, d 5 

a wM 

deuoes the Sun 

d 2m-I. 

ons 

2 

2 

mn 

2 

2 

Heuce) 

mlm) 
2 2 

a, l=2m 

r[ mn t] 

2 

+2 t2 m n 

.+(2m 

2 mn - 2nn 

.S, + S,+ S1 t -.+S 
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Part -IV 

43.a) Solutoy 

Pae 

[ scala foco 7, 1]. 

Vot P. 

). Conybuet 
y asremet 

P 

Rough 
Siogham 

a A Pae wt 

belaced line sgoent ae at e' 
s] Daaw line omongh R' Panallil to 

lie sgment ap at p' 
rhen 

43) b), soulios: 

Nep 1: Draw linc scgment P Bm 

ep2: At P,dras PF such that ¿E 60 

Nep: A Pdraw Pfsuch that . P 

Itom R dum 
Lmeels at 

0 

lhe lkngth of the ahitude n 8am 

alidig 
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a) 

torn a table for the given letin 

aritinn 

-aNis len) 1 (n 

Let us form the table with the given details. 

Schle 

12 

Let y= 

6 4 3 2 

1 2 3 4 

From the table, we observe that as 
x decreases, y increases. Hence, the type is 
inverse variation. 

y = &, k >0 is called the constant 
of variation. 

Therefore, xy = 12. 

From the table k = 12 x l=6x 2=... 
= 2x6= 12 

I2 

..ALL THE BEST... 
Prepared By, 

Plot the ponts (2.0. 4.21. 
(6,3). (%,4), (14).5), 02,6) 14.7) 
and (D6.8) on thc graph 

7 

Theeete#e. the varitkn s a 

We ohserve that the relatION 

9. 

From thc graph. 

forms a saght ine. 

(i) when z =9, we have 
y=4.5 

(ii) when y =7.5. 

Plot the points (12,1), (6,2), (4,3), 
(3,4), (2,6) and join these points by a smooth curve (Rectangular Hyperbola). 

Vice Principal & Dept. In Mathematics. 
Vanmathi Matric Hr.Sec. School 

we have = 15 

M.S.Mahendira Rajan, M.Sc.,M.Phil.,B. Ed., 

From the graph, we observe that Kaushik takes 5 hrs with a speed of 2.4 km/hr. 

1 

Vadakkanandal. Chinnasalem(Tk), Kallakurlchi(Dt). 
contact Number: 9500499292. 

24LA 

L, 1) 
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